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Varignon to Leibniz

Paris, November 28, 1701

Permit me to assure you of my deepest respect and at the same time
to inform you of a work which is being circulated here under your
name. It concerns the disagreement between Mr. Rolle and myself,
of which you know, regarding your infinitesimal calculus, which he
terms false and to which he attributes errors in reasoning. The Abbé
Galloys, who is really behind the whole thing, is spreading the report
here that you have explained that you mean by the ‘“differential” or
the “infinitely small” a very small, but nevertheless constant and
definite quantity, such as the earth in relation to the heavens or a
grain of sand in relation to the earth. I, on the other hand, have
called a thing infinitely small or the differential of a quantity if that
quantity is inexhaustible in comparison with the thing. Thus I have
called infinite or indefinite everything which is inexhaustible, while

[ have called infinitely or indefinitely small everything with respect
to which a given quantity is inexhaustible.
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Ways of thought of great mathematicians  Herbert Meschkowski
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